
SealerSales WN-650HC 
26" Long Hand Impulse Sealer w/ 
Sliding Cutter

Parts List

https://www.mybinding.com/
tel:1-800-944-4573
https://www.mybinding.com/sealersales-wn-650hc-26-long-hand-impulse-sealer-w-sliding-cutter.html


W-SERIES LONG HAND SEALER w/ and w/o cutter
Parts D I A G R A M 

* after number denotes cutter unit only.f y

Sealer - Overview

54

50 / 
51 – screws 9

3

4

37

54

16

66
25

76*

74*

69*

47
48

63

36
61 - screw

1

2
Last updated: 08/14/12.

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com


W-SERIES LONG HAND SEALER w/ and w/o cutter
Parts D I A G R A M 

* after number denotes cutter unit only.

636

2 15

72*

2

7

39

10 12

8

15

1073*71*

B-WH-
HD

65
49

80 541

69*

72*54
62 – Hexagon Bolt

52 – Spring Washer
53 - Washer

2*

69

38
60 - screw 43

73a* 73b*

36

275*

76*
59

42



W-SERIES LONG HAND SEALER w/ and w/o cutter
Parts D I A G R A M 

* after number denotes cutter unit only.
27

f y

Under the Hood
67

30 23
10 1155

27

35
29

32
43 - Screws 31

22 - Screws 14 18 22
21 25

20
45 – Hexagon Bolt
58 – Washer 3/8
56 – Nut 3/8
57 – Spring Washer

46



 W N L ong H and Sealers
W N 500H /650H /750H /900H /1000H /500H C /650H C /750H C /1000H C
Spare Parts D IA G R A M

https://www.mybinding.com/sealersales-wn-500h-20-long-hand-impulse-sealer.html
https://www.mybinding.com/sealersales-wn-650h-26-long-hand-impulse-sealer.html
http://www.mybinding.com/sealersales-w-series-30-long-hand-impulse-sealers.html?sku=WN-750H
https://www.mybinding.com/sealersales-wn-1000h-40-long-hand-impulse-sealer.html


 W N L ong H and Sealers
W N 500H /650H /750H /900H /1000H /500H C /650H C /750H C /1000H C
Spare Parts D IA G R A M

Item Part # Des crip tion Com m ents

RKs RK-M odel#
REPLACEM EN T KIT S
Inclu des (2) elem ents ,(2) PT FE adhes iv es ,1ft PT FE
Cov er,and b lade ifcu tter u nit (H C)

s p ecify m odel# w hen
ordering

1 Base
s p ecify m odel# w hen
ordering

2 Square Tube for WHLH and WHI
s p ecify m odel# w hen
ordering

2a W H I-65 Spring for Square Tube for WHLH and WHI

3 Sealing Bar / Upper Arm
s p ecify m odel# w hen
ordering

4 SRS-s p ecify m odel# Silicone Sponge, Compression Foam

5 Fixed Plate for PTFE Cloth/Cutter
s p ecify m odel# w hen
ordering

6 Roll Stick for PTFE Cloth
s p ecify m odel# w hen
ordering

7 W H LH -7 Power Switch, 3P, 15A/125V (W-Series)

8 W H A-33 Lamp (R), LED for E.G.O. E-00302 for (W-Series)

9 W H LH -9 Handle (metal) for WHLH and WHA

10 Circuit Breaker

W H I-11b Circuit Breaker, 10A, WN-500H/HC

W H I-11c
Circuit Breaker 15A for WN-650H/HC, WN-750H/HC,
1000H/HC, 1300H, 1500H

11 W H A-36 Variable Resistor - 1M (W-Series)
s p ecify m odel# w hen
ordering

12 W H A-30 Knob, Red for (W-Series)
s p ecify m odel# w hen
ordering

13 Isolated Washer for PCB13 Isolated Washer for PCB

14 PCB-m odel# PC Board
s p ecify m odel# w hen
ordering

15 W H LH -15 Panel Sticker, Control Panel Cover

16 W H LH -16 Timer Box / Skull

17 Washer

18 Nut M4

19

20 W H LH -20 Paper Plate (Red) Insulator

21 W H LH -20 Paper Plate (Red)(S) Insulator

22 Screw

23 Transformer

23a T RN S-W N -500H /H C Transformer (20") #1035 for W N -500H /H C

23b T RN S-W -650/750 Transformer (26", 30") #1037 for W N -650H /H C,750H /H C

23c T RN S-900/1000 Transformer (35", 40") #1039 for W N -900H /H C,1000H /H C

23d T RN S-s p ecify m odel# Transformer 220V

24 Screw M4*10 for Transformer

25 W H A-43 Grommet (W-Series)

26 W H I-62 Screw - M4*25 for Square Tube for WHLH and WHI

27 Nut 3/16

28 W H LH -28 Back Plate

29 Support Bracket-R

30 Support Bracket-L

30a W H LH -30a Support Bracket Set

31 W H LH -31 Plate for Microswitch,Lever

32 W H LH -32 Holder for Tension Spring / Spring Bracket

35 M SW -W H LH -W H I Microswitch w/Long Arm for WHLH and WHI

36 W H LH -36 Cover for Heating Element (Screw - WHLH-61)

37 W H LH -37 Stopper 25*25

38 W H LH -38 Rubber Foot (WHLH / WHI)

39 Sponge (S)

https://www.mybinding.com/sealersales-wn-1000h-40-long-hand-impulse-sealer.html
http://www.mybinding.com/sealersales-w-series-30-long-hand-impulse-sealers.html?sku=WN-750H
https://www.mybinding.com/sealersales-wn-650h-26-long-hand-impulse-sealer.html
https://www.mybinding.com/sealersales-wn-500h-20-long-hand-impulse-sealer.html


 W N L ong H and Sealers
W N 500H /650H /750H /900H /1000H /500H C /650H C /750H C /1000H C
Spare Parts D IA G R A M

Item Part # Des crip tion Com m ents

40 W H LH -40 Bushing for Screw

41 M S-W H Spring Hook, Mounting

41a H T A-W H Spring Hook Assembly (includes 40,41,42,59)

42 W H LH -42 Solderless Terminal 2-8 / Connecting Plate

43 Screw -M 4x 8 M4*8 Screw

44 W H LH -44 Hexagon Bolt M6*16

45 Hexagon Bolt 3/8*13/4

46 Screw M3*15

47 W H A-15 Multi Star Knob (W-Series)

48 W H A-14 Plate for PTFE Sheet (Clip) (W-Series)

49 W H LH -49 Fiber Plate - 1.2m (47") - cut to fit

50 W H LH -50 Handle Plastic

51 Screw M5*15 for Handle

52 Spring Washer for Handle Knob

53 Washer, for Handle Knob

54 W H LH -54 Lever Knob, Round (WHI and WHLH)

55 W H LH -55 Screw 3/16 * 1 1/2, Support Bracket

56 Nut 3/8

57 Spring Washer 3/8

58 Washer 3/8, Hinge

59 W H LH -59 Screw M4*6, Mounting Spring #4159 W H LH -59 Screw M4*6, Mounting Spring #41

60 W H LH -60 Screw M5*8, Rubber Foot #38

61 Screw M4*10

62 Hexagon Bolt M6*20, for Knob #54

63 T R-s p ecify m odel# PTFE Cloth
s p ecify m odel# w hen
ordering

64

65 H E- Heating Element

66 PW C-W H Power Cord

67 Spring Arm

67a W H LH -67a Spring Arm, 2.6 for WHI and WHLH for W N -500H /H C

67b W H LH -67b Spring Arm, 3.0 (Weight - 1.4oz) for WHI and WHLH for W N -650H /H C,750H /H C

67c W H LH -67c Spring Arm, 3.5 (Weight - 1.7oz) for WHI and WHLH for W N -900H /H C,1000H /H C

68 Same as Part #5

69 Silicone Bracket for Cutter Unit

70 B-W H Blade

71 CB-W H Protector for Cutter Inclu des #71,#72

72 CB-W H Cutting Blade Bracket Inclu des #71,#72

CBB-W H -H D Cutting Blade Bracket w/ Blade - Heavy Duty

73 W H LH -73 Screw M3*8 for Blade

73a Screw M3*3 Front of Heavy Duty Blade

73b Screw M3*12 Back of Heavy Duty Blade

74 SRC- Silicone for Cutter Unit for WHI and WHLH
s p ecify m odel# w hen
ordering

75 W H LH -75
Bushing for Cutter Unit, Rubber Spacer for WHLH and
WHI-C

76 W H LH -76 Screw M5*30, Cutter Unit Bracket

80 T A-s p ecify m odel# PTFE Adhesive Tape
s p ecify m odel# w hen
ordering

81 W H LH -81 Connector Plate

https://www.mybinding.com/sealersales-wn-500h-20-long-hand-impulse-sealer.html
https://www.mybinding.com/sealersales-wn-650h-26-long-hand-impulse-sealer.html
http://www.mybinding.com/sealersales-w-series-30-long-hand-impulse-sealers.html?sku=WN-750H
https://www.mybinding.com/sealersales-wn-1000h-40-long-hand-impulse-sealer.html


W LONG HAND DETAILED PARTS DIAGRAM
Last Updated: 02/08/13

Page 1 of 8

#2 – WHLH-2 – Square Tube #2a – WHI-65 – Spring for Square Tube

#4 – SRS-Specify Model # - Sponge/Compression Foam

#5a – Specify Model # - Fixed Plate – A Version #5b – Specify Model # - Fixed Plate – B Version

#6 – Specify Model # - Roll Stick for PTFE Cloth #7 - WHLH-7 – Power Switch – 3P



W LONG HAND DETAILED PARTS DIAGRAM
Last Updated: 08/14/12

Page 2 of 8

#8 – WHA-33 – Lamp (R) WHLH-9 – Handle (metal)

#10 - WHI-11b – Circuit Breaker
WN-500H/WN-500HC

#10 - WHI-11c – Circuit Breaker
WN-650H/HC – WN-750H/HC - WN-900HC – WN-1000H/HC

WN-1300H – WN-1500H

#11 – WHA-36 – Variable Resistor #12 – WHA-30 – Knob (Red)

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com


W LONG HAND DETAILED PARTS DIAGRAM

#14 – PCB-WHLH – PC Board

#23 – TRNS-WN-xxxH/HC - Transformer

#26 – WHI-62 – Screw for Square Tube

DIAGRAM

PC Board WHLH-16 –

Transformer #25 – WHA

Screw for Square Tube

Page 3 of 8

– Timer Box / Skull

WHA-43 - Grommet

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com


W LONG HAND DETAILED PARTS DIAGRAM Page 4 of 8

WHLH-28 – Back Plate WHLH-30a – Support Bracket Set

WHLH-29 – Support Bracket, Right WHLH-30 – Support Bracket, Left

WHLH-31 – Plate for Microswitch, Lever WHLH-32 – Holder for Tension Spring / Spring Bracket

#35 – MSW-WHLH-WHI – Microswitch WHLH-36 – Cover for Heating Element
WHLH-61 - Screw



W LONG HAND DETAILED PARTS DIAGRAM Page 5 of 8

WHLH-37 - Stopper WHLH-38 – Rubber Foot

WHLH-40 – Bushing for Screw #41 – MS-WH – Mounting Spring

#42 – WHLH-42 – Solderless Terminal 2-8



W LONG HAND DETAILED PARTS DIAGRAM Page 6 of 8

#47 – WHA-15 – Multi-Star Knob #48 – WHA-14 – Plate for PTFE Cloth, Clip

WHLH-49 – Fiber Plate WHLH-50 – Handle Plastic

WHLH-54 – Lever Knob, Round #66 – PWC-WH – Powercord



W LONG HAND DETAILED PARTS DIAGRAM Page 7 of 8

WHLH-67a – Spring Arm, 2.6mm – WN-500H WHLH-67b – Spring Arm, 3.0mm – WN-650H / WN-750H

WHLH-67c – Spring Arm, 3.5mm – WN-900H / WN-1000H WHLH-69 – Bracket for Cutter Unit
(specify model #)

#70-73 – CBB-WH #72 – CBB-WH-HD – Cutting Bracket w/ Blade – Heavy Duty



W LONG HAND DETAILED PARTS DIAGRAM Page 8 of 8

#74 – SRC-specifymodel# - Silicone for Cutter Unit

WHLH-75 – Bushing for Cutter Unit

WHLH-76 – Screw for Cutter Unit Bracket

MyBinding.com
5500 NE Moore Court 
Hillsboro, OR 97124 
Toll Free: 1-800-944-4573 
Local: 503-640-5920

http://www.mybinding.com

	landscape-cover-template.pdf
	Blank Page




